When you draw an altitude to the hypotenuse of a right triangle, you create

three right triangles. How are the triangles related? A ... 4. — Seoment
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The altitude to the hypotenuse of
a right triangle divides the triangle
into two triangles that are similar
to the original triangle and to
each other.

PROOF: SEE EXERCISE 14.

C

Then... ACAB ~ ADAC ~ ADCB



Given that /\ POR ~ /\ QSR. what is QS?
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\éVhat is PS?
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Given /\ ACB. what is CD? b o 13N
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Use /\ ABC. A,

What is CD? .
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The length of the altitude to the
hypotenuse of a right triangle

is the geometric mean of the
lengths of the segments of the
hypotenuse.

PROOF: SEE EXERCISE 14.

If...

Then...
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Given /A RST. what is RT?
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4. Use A JKL.
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a. What is JL?
b. What is KL? Y___. - 1
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COROLLARY 2 TO THEOREM 7-4

The altitude to the hypotenuse | - A
of a right triangle divides the
hypotenuse so that the length of
a given leg is the geometric mean
of the length of the hypotenuse
and the length of the segment of

the hypotenuse that is adjacent C
to the leg.
Then...
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PROOF: SEE EXERCISE 14.



5. Use the geometric mean to find each
unknown.

a. Find the value of y.

b. Find the value of z.



Zhang is constructing a 4-ft high loading ramp. The length of the back of the
base must be 12.8 ft. How long must the entire base be?
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6. How long should Zhang make the ramp?
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Use /A DEF to find ER. p 3£
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Use A DEF to find DF. Use /\DEF to find DE.
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Use A POR to find QA.
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Use /A POR to find QR.
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aZJ—"IL: PG:L -r% = F_I_C;:

44



10. Deshawn installs a shelf bracket. What is the
widest shelf that will fit without overhang?
Explain.
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